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QUESTION 1

An administrator is creating a new Automated Linked-Clone desktop pool. The administrator has also created a new
parent virtual machine and has installed the View Agent.

Which additional step must be taken before the desktop is prepared for use in a Linked-Clone pool?
A. Restart the virtual machine and clone to template.

B. Power off the virtual machine and take a snapshot.

C. Enable provisioning in View Administrator.

D. Enable provisioning in View Composer.

Correct Answer: B

QUESTION 2

An administrator is performing the post-installation configuration of Workspace Portal. While running the setup wizard,
the administrator receives an error message. The error message appears during configuration of the Directory settings
and indicates that the user account cannot be found.

The administrator has confirmed the following:

What is causing the error?

A. The user account is located below the Base DN.

B. The user account has not been entered into the Global Catalog.

C. The user account is located above the Base DN.

D. The user account name is too long.

Correct Answer: C

QUESTION 3

An administrator is deploying a pool of virtual desktops and receives the following message when testing a
desktop connectionfrom a View Client machine :

The Desktop Currently Has No Desktop Sources Available.

The administrator has confirmed that:

After logging in to the vCenter Server, what should the administrator ensure to troubleshoot the issue?

A. The virtual desktops are powered on.
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B. There are no Memory reservations.
C. There are no CPU reservations.
D. The View Composer service is running.

Correct Answer: A

QUESTION 4

An administrator adds an RDS server to a farm to increase capacity for a group of users being added to the
environment. After the administrator adds the server, users report intermittent errors when connecting to the
application.

What is causing these errors?

A. The application pool has not been modified to include the new server.

B. The RDSH role has not been enabled on the server.

C. The application has not been installed on the newly added RDS server.

D. The newly added RDS server is a physical server.

Correct Answer: C

QUESTION 5

An administrator removes a virtual machine from a resource pool and places it in the DRS root resource pool. Users
report the performance of the application running on the virtual machine has improved. The virtual machine relocation
was the only change that occurred.

What explains the change in application performance?

A. The memory, storage, and/or CPU settings of the original resource pool restricted access to resources for the virtual
machine.

B. The configured memory, storage, and/or CPU shares on the root resource pool are higher than the original resource
pool.

C. The memory, storage, and/or CPU settings on the root resource pool restricted access to resources for the virtual
machine

D. The configured memory storage and/or CPU reservations on the root resource pool are higher than the original
resource pool.

Correct Answer: A
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